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1 T.X HPE ¢ 100, PP ¢ 13 & (KZ)

W X K U85

% fSikig Mo B | Wz
[#44]
e85 I
EF%2 O {HEE ¢ 100 47+ 2 49 N
¢ 100
EF S ~_U R 45° 4 4 1
Wokhe
EFY/rvh ¢ 100 3 — 1 2 i
PVZaAf ¢ 100 1 1 i
Gl PN
PEFRL D EEELITF ¢ 100X ¢ 75 2 - 1 1 1
M SRS A
FORZEE I 0 25 | 770V iR AL 1 1 18
e
T Pl 450 X 350-200 1 1 18
AR
T Pl 450 X 350-200 1 1 18
BiAf
ZER I 450 X 350-100 1 1 1
CHlt
2RI 450 X 350-100 1 1 i
AT
2RI E 680 X 200-40 1 1 1
770y iR AT
eI 7 5 | ¢ 75 X 100mm 1 1 7N
¢ 100 KA
BRT—7 | TAZEL | 243.64 + 38.70 282.3 | m
~——H 26 26 1
RYxFL & ¢ 50 3.0 3.0 m
R)=F LA 613 1.5%4 + 0.6%4 + 7.3%1 + 1.7%4 + 3.3%4 35.7 m
PP/ ¢ 50 1 1 &
PVY/roh 613 4+ 4 4 + 4 17 (e
EFE IR V43 k2| ¢ 100X ¢ 50 1 1 {I#
EFE R V43 ke ¢ 100X ¢ 13 4 + 4 4 + 4 17 L[E
PPy 7k #2 f ¢ 50 1 1 1
PP4y 117K e ) ¢ 13 4+ 4 4+ 4 17 18
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1T X HPE ¢ 100, PP ¢ 13 B

4

W X K O 5K

fSikig g
[77%]
[IR=IE e R P
RY=F LB AR T ¢ 100 245.22 — - 1.58 243.6 m
RV F LB L ¢ 50 3.0 3.0 m
RY=F LB A% T 613 35.70 35.7 m
RY T LT ¢ 100 3 3 5]
ERE ST
ZER Sk (B L 25 1 1
[EX:e i) RZ_UR Yok
SRR AHET T ¢ 100 47 + 2 o+ 4+ 4 57 | f&7
PV 'af b
A= TR T ¢ 100 2 2 8]
TR S
770 T T 675 + 2 2 8]
RYLF Lo RY—7 B T ¢ 100 243.64 2436 | m
ERRT—7 T 282.3 282.3  m
BN ok arikke A
PPHETF T. ¢ 50 + 2+ 1 3 8]
BN ok arikke A
PPHETF T. 613 + 34 o+ 17 51 8]
EF& H
KK IR T ¢ 100 X ¢ 50 1 1 i
EF# H
G KK IR T ¢ 100X ¢ 13 17 17 i
PVY'af b
AN =IIARFERA LT ¢ 100 4 4 5]
LAY d Wer7AF v ¥ 13.86 13.9 ke
20T T $eArIo7 | 25.76 25.8 kg
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1T #EEMRE KR 25

4

Biks

W X K U85

BB HA

HiE) (BEER)
RYTF L34 ¢ 100 3.30 X 4.20 13.86 kg
BT IATFIHH 13.86 kg

HiE) (BB ER)
PVYa{Vh ¢ 100 2 X 12.88 25.76 kg
$kArTv7 | 25.76 | ke
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1 T T+ T & &

+Ta47° 1-1 HEEE As HPE ¢ 100 DP=0.90m
T TR L= 245.2 = 2452 m
y W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
- —
< I v S
i BRAET
| RC-40 3
!
i A
i W | #EIfE[  0.550
a [ DI [#&4M%[ 0.125
= 2 ° IR 1ERM _ DP | 140 | 0.900
; RC-40 < H1 | HREIE] 1125
i H2 | #EHIE|  1.085
BB hl | H#EEES| 0.410
iv—h Y h [® ] 0.525
I o
! 8y
i b {
1 a| <
—f
i Sy v
!
\L
( 245.2 m M7-0EE)
4 g iR N M H B = B & &
AT T As, t=15emEL 2.00 X 245.2 m 490.4
SRR R T As, t=10ecmPL T 0.55 X 245.2 m?| 134.9
oW T Kbk RYEL A+ 0.55 X 1.085 X 245.2 m’| 146.3
P FL T RC-40 0.55 X 0.410 X 245.2 m’ 55.3
DL T it
D FL T b ( 055 X 0.525 — 0.125 2 X x,/4)%x 2452 | m° 67.8
PR A Wi R
B sy W+ 146.30 — ~ 09 m’| 146.3
FEo AL As 0.55 X 0.04 X 245.2 m’ 5.4
PSS T As m’ 5.4
15 URE - ALy T 0.023 X 0.04 X 490.4 m’ 0.45
B A% T RC-40, t=16cm 0.55 X 245.2 m?| 1349
A RIEAS(13)
IR T t=3cm 0.55 X 245.2 m?| 134.9
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1 TX T+ T & &
+Ta47° 1-2 HEEIE As PP ¢ 50 DP=0.90m
+ TR L= 3.0 = 3.0 m
’ W
BEE%As t=4cm EHl | BR REIH BEFHiAs t=3cm
E— >
< I v S
i BRAET
| RC-40 =
!
i
i W | #EIfE[  0.550
a [ D1 [#&4M%[ 0.060
= 2 ° IR 1ERM _ DP | 140 | 0.900
; RC-40 < H1 | HREIZE] 1.060
i H2 | #EHE|  1.020
BB EHRT— hl | H#EERf| 0.410
iz—t h [ # @] 0.460
I o
! S
| —1%
| 5| =
B
i =3
!
\L
( 3.0 m M70EE)
4 e 7R NI g i = B & &
AT T As, t=15cmPA T 2.00 X 3.0 m 6.0
SRR R T As, t=10cmPA T 0.55 X 3.0 m? 1.7
i Al T bk WY+ 055 X 1.020 X 3.0 m? L7
PO BT RC-40 0.55 X 0.410 X 3.0 m® 0.7
DL T it
D FL T b ( 055 X 0.460 — 0.060 > X 7,/4)X 3.0 m® 0.8
e R EE
B sy e+ .70 — +~ 0.9 m’ 1.7
FEo AL As 0.55 X 0.04 X 3.0 m’ 0.1
Ty As m® 0.1
15 URE - ALy T 0.023 X 0.04 X 6.0 m’ 0.01
B T RC-40, t=16cm 0.55 X 3.0 m? 1.7
A RIEAS(13)
IR T t=3cm 0.55 X 3.0 m? 1.7
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1 TX T+ T & &
+Ta47° 1-3 HEEIE As PP ¢ 13 DP=0.65m
+ TAEFR: L= 1.5%4+ 0.6%4 + 7.3%1 + 1.7%4 + 3.3%4 = 35.7 m
’ W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
I — >
< I v S
i BRAET
| RC-40 =
!
i A
i W | #EIfE[  0.550
a [ DI [#&4ME[ 0.022
= €| ° IR 1ERM _ DP | 140 | 0.650
2 RC-40 < H1 [##izE] 0.772
i H2 | #mHlE| 0.732
:"éﬂﬂ?ﬁ SR T— hl HEGEEY] 0.160
iz—k Y h | @ @] 0.422
I o
! S
| —1%
| 5| =
B
i Sy v
!
\ ¢D
( 35.7 m M7-0¥E)
4 e iR N M g B = B & &
AT T As, t=15cmPA T 2.00 X 35.7 m 71.4
Al iR I T As, t=10cmPLF 0.55 X 35.7 m* 19.6
O T Hhk WE + 0.55 X 0.732 X 35.7 m’ 14.4
P REL T RC-40 0.55 X 0.160 X 35.7 m’ 3.1
DL T it
D FL T b ( 055 X 0422 — 0.022 2 X g5,/4)X 357 m® 8.3
e R EE
B sy WE 14.40 — +~ 0.9 m’ 14.4
FEo AL As 0.55 X 0.04 X 35.7 m’ 0.8
PSS T As m’ 0.8
15 URE - ALy T 0.023 X 0.04 X 71.4 m’ 0.07
%A T RC-40, t=16cm 0.55 X 35.7 m? 19.6
A RIEAS(13)
IR T t=3cm 0.55 X 35.7 m? 19.6
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I T.IX PP¢50, 13 &#,I5BUKR)

W X K U85

% fSikig Mo B | Wz
[#44]
RYyxFL % ¢ 50 249.1 249.1 @ m
RYTF L 613 1.8%12 + 10.1%1 + 5.1%4 52.1 m
PP /LR ¢ 50 17 17 {E]
PP LR 613 312 + 6kl + 5#4 62 1
PPV 4k ¢ 50 4 4 18
PV /roh $13 12 + 1 + 4 17 i
F—=rv7 ¢ 50 2 2 &
PPERAL ¢ 50 4 4 1
EFE PN V437K | ¢ 100 X ¢ 50 2 2 1
PPE YA KER | $50X ¢ 13 12 + 1 + 4 17 18
PP4y 1k 7k 42 ¢ 50 2 2 {I&
PPy 17k 613 12 + 1 + 4 17 L&
Mte¥yry7 ¢ 50 2 2 {E]
PRI ¢ 50 116.4 + 114.5 230.9 m
[77%]
R TF LA HF% T ¢ 50 249.1 249.1 m
RY)TF LA A% T ¢ 13 52.1 52.1 m
LR Yok PPF—X  PPERL 4yikKEH
PPk T. ¢ 50 34 + 8 4+ + 4+ 2 48 5]
BN Viroh Ay
PP T 613 124 + 34 + 17 175 5]
EF H
Sy KK T ¢ 100 X ¢ 50 2 2 [
PP H]
Sy KR T $50X ¢ 13 17 17 [
IR BT ¢ 50 249.1 249.1 | m
IR B T ¢ 13 52.1 52.1 m
I It
BT PP ¢ 50 249.1 X% 1.216 = 302.9 302.9 | kg
I ik
PP ¢ 13 52.1 X 0.184 = 9.59 9.6 kg
312.5 | kg
PP LR S i fit
R T T ¢ 50 17 X 3.170 = 53.89 53.9 | kg
PP LR IS i fit
o 13 62 X 0.340 = 21.08 21.1 kg
PPV vk Tk Th
¢ 50 4 %2910 = 11.64 11.6 | kg
PVY 4ok Tk Th
o 13 17 X 0.375 = 6.38 6.4 kg
AV Tt it fit
¢ 50 2 X 1.730 = 3.46 3.5 kg
96.4 | kg
PRIV kAR % Tl
AT T $50X ¢ 13 17 X 1.700 = 28.90 28.9 kg
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10 o170 70°0 €0°0 10°0 20°0 RV,
3 e G0 70 [0 [0 20 20 sV HLad
3 e G0 70 [0 [0 20 20 Y e Y
L 169 971 €T 0T 70 8T 80 T
L 169 971 €T 0T 70 8T 80 T HM Lo+
¥ I AT 971 A G0 60 T H T @i
T I ¢0 60 070 T @i
01 LI 9TT Ve 97 0T 0T 8T 8’1 FEM W3 TN
6¢ W lese 4 7’6 0°¢ 0°¢ GG GG L AwoT=y SV | T E KR
01T w [880T 0¥¥ 0F¢ 80T 0°0% A Yqmer=1 sy AR TEEA T
(RHFEir) | i) | Guspith) | Guidin) | Guspll) | G
I NER R VA=t b ARG C-T13EY) | €-13EX) | -T2 | o-13E%) | T-13E) | 1-132%) ook Yk 7 %
Ly g1
=HHEEFRTT (EH)XIT
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1 TX T+ T & &
+TH47° | IER1-1 TEHEE As PP ¢ 50 DP=0.30m
T TR = 10.0 = 10.0 m
(IR EREF)
’ W
BEE%As t=4cm EHl | BR REIH BEFHiAs t=3cm
- —
< \u v S
i BRAET
| RC-40 =
— {
|
i W | #EIfE[  0.550
a [ D1 [#&4M%[ 0.060
= €| ° wIELl SRRt — DP | +-#0 | 0.300
i < H1 [#RiE] 0.360
H2 | #El&E] 0.320
hl [H#EFF] 0.170
h W
A
=
( 10.0 m %7-v¥E:)
4 e iR N M B = B & &
i o) As, t=15cmbL F 2.00 X 10.0 m 20.0
SRR R T As, t=10ecmPL T 0.55 X 10.0 m? 5.5
woEl T bk WYE + 0.55 X 0.320 X 10.0 m® 1.8
P REL T RC-40
P REL T it ( 055 X 0.170 — 0.060 2 X x,/4)X 10.0 m® 0.9
DL T Y
PR A Wi R
B sy W+ .80 — 0.90 + 0.9 m’ 0.8
FEo AL As 0.55 X 0.04 X 10.0 m’ 0.2
PSS T As m’ 0.2
15 URE - ALy T 0.023 X 0.04 X 20.0 m’ 0.02
B T RC-40, t=16cm 0.55 X 10.0 m? 5.5
A RIEAS(13)
IR T t=3cm 0.55 X 10.0 m? 5.5
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1 TX T+ T & &
+TH47° | IER1-1 TEHEE As PP ¢ 50 DP=0.30m
T TR = 10.0 = 10.0 m
(B
y W
BEE%As t=3cm EHl | BR RIEIR BAEFEAAs t=3cm
- —
S N v S
i | pREET
| RC-40 =
|
i A
i W | #EIfE[  0.550
a [ D1 [#&4M%[ 0.060
= 2 ° IR 1ERM _ DP | +-#0 | 0.300
2 RC-40 < H1 | HREIZE] 0.360
i H2 | A& 0.330
! hl [H#EFF] 0.170
i h W
|
i —
| =
i
RERE oD
( 10.0 m %7-v¥E:)
4 g iR N M g B = B & &
Sl T As, t=15ecmPA T
SRR R T As, t=10cmPA T 0.55 X 10.0 m? 5.5
e 1| Kbk RVE L ( 055 X 0.330 — 0.060 2 X x,74)X 10.0 m® 1.8
PO BT RC-40 0.55 X 0.170 X 10.0 m® 0.9
DL T it
DL T Y
PR A Wi R
B sy W+ 1.80 — + 0.9 m’ 1.8
FEo AL As 0.55 X 0.03 X 10.0 m’ 0.2
PSS T As m’ 0.2
VHJETE - Ly T
B T RC-40, t=16cm 0.55 X 10.0 m? 5.5
A RIEAS(13)
IR T t=3cm 0.55 X 10.0 m? 5.5
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1 T T+ T & &

+TH47° | 12 TEHEE As PP ¢ 50 DP=0.30m
+TiEE L= 1.4 +4.0 = 5.4 m
(IR EREF)
y W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
I — >
< \u v S
I OEREET
| RC-40 3
:
!
i W | #EIfE[  0.550
a i D1 | %&4M%[ 0.060
= €| ° wIELl SRRt — DP | +-#0 | 0.300
i < H1 [#RiE] 0.360
H2 | #El&E] 0.320
hl [H#EFF] 0.170
h W
A
=
( 5.4 m Y7-0¥E)
4 g iR N M H B = B & &
SR T As, t=15cmBLF 2.00 X 5.4 m 10.8
SRR R T As, t=10ecmPL T 0.55 X 5.4 m? 3.0
woEl T bk WYE + 0.55 X 0.320 X 5.4 m® 1.0
P REL T RC-40
P FL T B+ ( 055 X 0.170 — 0.060 > X x,/4)X 5.4 m® 0.5
DL T Y
PR A Wi R
B sy W+ .00 — 0.50 -+ 0.9 m’ 0.4
FEo AL As 0.55 X 0.04 X 5.4 m’ 0.1
Ty As m® 0.1
15 URE - ALy T 0.023 X 0.04 X 10.8 m’ 0.01
B A% T RC-40, t=16cm 0.55 X 5.4 m? 3.0
A RIEAS(13)
IR T t=3cm 0.55 X 5.4 m? 3.0
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1 TX T+ T & &
+TH47° | 12 TEHEE As PP ¢ 50 DP=0.30m
T TR = 1.4 +4.0 = 5.4 m
(B
y W
BEE%As t=3cm EHl | BR RIEIR BAEFEAAs t=3cm
- —
S N v S
i | pREET
| RC-40 3
!
i A
i W | #EIfE[  0.550
a [ D1 [#&4M%[ 0.060
= 2 ° IR 1ERM _ DP | +-#0 | 0.300
2 RC-40 < H1 [#RiE] 0.360
i H2 | A& 0.330
! hl [H#EFF] 0.170
i h W
!
i —
| =
i
RERE oD
( 5.4 m Y7-0¥E)
4 g iR N M H B = B & &
Sl T As, t=15ecmPA T
SRR R T As, t=10cmPA T 0.55 X 5.4 m? 3.0
e 1| Kbk RVE L ( 055 X 0.330 — 0.060 2 X x,/4)X 5.4 m® 1.0
PO BT RC-40 0.55 X 0.170 X 5.4 m® 0.5
DL T it
DL T Y
PR A Wi R
B sy W+ .00 — + 0.9 m’ 1.0
FEo AL As 0.55 X 0.03 X 5.4 m’ 0.1
Ty As m® 0.1
VHJETE - Ly T
B A% T RC-40, t=16cm 0.55 X 5.4 m? 3.0
A RIEAS(13)
IR T t=3cm 0.55 X 5.4 m? 3.0
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1 T T+ T & &

+Ta477 | fER1-3 HEEE As PP ¢ 13 DP=0.30m
+ THER L= 1.0%12+ 1.0%1 + 1.0%4 = 17.0 m
(IR EREF)
y W
BEE%As t=4cm EHl | BR REIH BEFHiAs t=3cm
I — —
< \u v S
i BRAET
| RC-40 =
!
i
i W | #EIfE[  0.550
a [ DI [#&4ME[ 0.022
= €| ° wIELl SRRt — DP | +-#0 | 0.300
2 < H1 | HREIZE] 0.322
i H2 | #mHE|  0.282
! hl [#EFF] 0.132
i h W
!
'D ‘
| —
} (=)
RE%E 6D
( 17.0 m M7=0¥dE)
4 e iR N M g B = B & &
AT T As, t=15cmPA T 2.00 X 17.0 m 34.0
SRR R T As, t=10cmPA T 0.55 X 17.0 m? 9.4
O T Hhk WE + 0.55 X 0.282 X 17.0 m’ 2.6
DL T RC-40
P FL T B+ ( 055 X 0.132 — 0.022 2 X gx,/4)X 17.0 m® 1.2
DL T Y
R S EEL
B sy W+ 2,60 — 1.20 <+ 0.9 m’ 1.3
FEo AL As 0.55 X 0.04 X 17.0 m’ 0.4
PSS T As m’ 0.4
15 URE - ALy T 0.023 X 0.04 X 34.0 m’ 0.03
B A% T RC-40, t=16cm 0.55 X 17.0 m? 9.4
A RIEAS(13)
IR T t=3cm 0.55 X 17.0 m? 9.4

30




1 TX T+ T & &
+Ta47" | fER1-5 HEEE As PP ¢ 13 DP=0.30m
T TR L= 8.4%1 + 3.4%4 = 22.0 m
(IR EREF)
y W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
I — >
< \u v S
I OEREET
| RC-40 3
|
i
i W | #EIfE[  0.550
a [ DI [#&4ME[ 0.022
= €| ° wIELl SRRt — DP | +-#0 | 0.300
i < H1 [#izE] 0.322
H2 | ##EIE| 0.282
hl [#EFF] 0.132
h W
A
=
( 22.0 m %7-0¥E:)
4 g iR N M g B = B & &
i o) As, t=15cmbL F 2.00 X 22.0 m 44.0
SRR R T As, t=10ecmPL T 0.55 X 22.0 m? 12.1
woEl T bk WYE + 0.55 X 0.282 X 22.0 m’ 3.4
P REL T RC-40
P FL T B+ ( 055 X 0.132 — 0.022 2 X g7,/4)X 22.0 m® 1.6
DL T Y
PR A Wi R
B A4y WE 340 — 160 <+ 0.9 m* 1.6
FEo AL As 0.55 X 0.04 X 22.0 m’ 0.5
PSS T As m’ 0.5
15 URE - ALy T 0.023 X 0.04 X 44.0 m’ 0.04
B A% T RC-40, t=16cm 0.55 X 22.0 m? 12.1
A RIEAS(13)
IR T t=3cm 0.55 X 22.0 m? 12.1
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2T.X PP¢50, 13 &M, HAK)

W X K U85

% fSikig Mo B | Wz
[#44]
RYyxFL % ¢ 50 81.3 81.3 m
RYTF L 613 2.0%4 + 3.0%4 20.0 m
PPY4rh ¢ 50 2 2 1
PV /roh ¢ 13 4 + 4 8 i
Fiid
VTN — AR ¢ 50 1 1 18
B
[ERFIEINES JWWA B 132 1 1 i
Ay
laReIEN PR25 (K) 2 2 18
e
fEFpE RA25 (A) 1 1 1
TR
fEE)SpfE RC25(C) 1 1 1
JECAR
oS RS25 (S) 1 1 L
SUSa7AF
MFY342b 230 2 2
EFE FHY M Vo 7k ke | ¢ 100X ¢ 50 1 1 L&
PPEFNAI KK | 50X ¢ 13 4+ 4 8 1A
PPy 17k ¢ 50 1 1 L&
PP4y 117K e ) 613 4 + 4 8 i
¢ 50 KA
EHRT— | TAFEL L 813+ 20.0 101.3 | m
~——HL 10 10 L&
[77%]
RV TF LR T ¢ 50 81.3 81.3 m
RYTF LA Hi 3% T ¢ 13 20.0 20.0 m
BN Vhroh Ay
PPAkFT. 650 LT S > H
BN Yok Ayakkke A
PPk T. 613 + 16 + 8 24 H
i EREE T
) FpakiE T ¢ 50 1 1 7
MFY 'afvb
AT =TT ¢ 50 2 2 8]
MFY 'afvb
TR ¢ 6500 2 2 5]
EF7E
Sy KA T ¢ 100 X ¢ 50 1 1 i
PP
Sy kBRI T 650X ¢ 13 8 8 T
BHRT—7 T, 101.3 101.3 | m
PVY'afvb
AH=F VAR L ¢ 50 1 1 [N]
20T T BAITo7 | 6.49 6.5 kg
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2T MEBEMHE (KR 24

W X K U85

E S Fitk OB
) (BERE)

PV a{Vh ¢ 50 1 X 6.49 6.49 ke

ATy T 6.49 kg
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2 TIX T+ T & &
+Ta47° 1-2 HEEIE As PP ¢ 50 DP=0.90m
T TR L= 81.5 = 81.5 m
’ W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
I — >
< I v S
i BRAET
| RC-40 3
!
i
i W | #EIfE[  0.550
a [ D1 [#&4M%[ 0.060
= 2 ° IR 1ERM _ DP | 140 | 0.900
; RC-40 < H1 | HREIZE] 1.060
i H2 | #EHE|  1.020
BB EHRT— hl | H#EERf| 0.410
iz—t h [ # @] 0.460
I o
! S
w| —1
| 5| =
B
i =3
!
\ ¢D
( 81.5 m M7-0¥k)
4 e 7R NI g B = B & &
AhEEDIN 1T As, t=15cmPA T 2.00 X 81.5 m 163.0
SRR R T As, t=10cmPA T 0.55 X 81.5 m? 44.8
O T Hhk WE + 0.55 X 1.020 X 8L.5 m’ 45.7
P REL T RC-40 0.55 X 0.410 X 8.5 m® 18.4
DL T it
D FL T b ( 055 X 0.460 — 0.060 > X 7,4 )X 815 m® 20.4
e R EE
B A4y WE 45.70 — +~ 0.9 m’ 45.7
FEo AL As 0.55 X 0.04 X 815 m’ 1.8
Ty As m® 1.8
15 URE - ALy T 0.023 X 0.04 X 163.0 m’ 0.15
B T RC-40, t=16cm 0.55 X 8.5 m? 44.8
A RIEAS(13)
IR T t=3cm 0.55 X 8.5 m? 44.8
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2 TIX T+ T & &
+Ta47° 1-3 HEEIE As PP ¢ 13 DP=0.65m
T TR L= 2.0%4 + 3.0%4 = 20.0 m
’ W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
E— >
< I v S
i BRAET
| RC-40 3
!
i
! W | #iEAliE]  0.550
a [ DI [#&4ME[ 0.022
= €| ° IR 1ERM _ DP | 140 | 0.650
2 RC-40 < H1 | HREIZE] 0.772
i H2 | #mHlE| 0.732
BB ERHRT— hl | H#EERf| 0.160
iz—t h | @ @] 0.422
I o
! S
w| —1
| 5| =
PE—
ok
i =3
!
\ ¢D
( 20.0 m M7-0¥E)
4 e IR NI R = g B = B & &
AT T As, t=15cmPA T 2.00 X 20.0 m 40.0
SRR R T As, t=10cmPA T 0.55 X 20.0 m? 11.0
i Hl T R WYE T 055 X 0.732 X 20.0 m? 8.1
P REL T RC-40 0.55 X 0.160 X 20.0 m® 1.8
DL T it
PO REL T b (055 X 0.422 — 0.022 2 X x,/4)X 20.0 m’ 4.6
e R EE
B sy W+ 8.10 — +~ 0.9 m’ 8.1
FEo AL As 0.55 X 0.04 X 20.0 m’ 0.4
PSS T As m’ 0.4
15 URE - ALy T 0.023 X 0.04 X 40.0 m’ 0.04
B T RC-40, t=16cm 0.55 X 20.0 m? 11.0
A RIEAS(13)
IR T t=3cm 0.55 X 20.0 m? 11.0
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2T.X. PP¢50, 13 &M, HUREK)

W X K U85

% fSikig Mo B | Wz
[#44]
RYyxFL % ¢ 50 72.5 72.5 m
Rz FL % 613 1.4%4 + 4.4%4 23.2 m
PPF—X ¢ 50X ¢ 50 1 1 {I&
PP/L7R 613 k4 + 5%4 32 1
PPV 4k ¢ 50 1 1 18
PV /roh $13 4 + 4 8 i
F—=rv7 ¢ 50 2 2 &
PPERAL ¢ 50 4 4 1
PPE YA KER | $50X ¢ 13 4 + 4 8 i
PP4y 117K e ) 613 4 + 4 8 i
PRI ¢ 50 72.5 72.5 m
[77%]
ARV F LR T ¢ 50 72.5 72.5 m
RYVzF L B ik T ¢ 13 23.2 23.2 m
LR Yok PPF—=X  PPERL 4K
PPk T. ¢ 50 + 2 4+ 3 + 4 o+ 9 5]
BN A A N | ¥
PPk T. 613 64 + 16 + 8 88 5]
PP H
Sk AR BT T $50X ¢ 13 8 8 [
IR BT ¢ 50 72.5 72.5 m
IR BT 613 23.2 23.2 m
IR It
BT PP ¢ 50 72.5 X 1.216 = 88.2 88.2 kg
IR i
PP ¢ 13 23.2 X 0.184 = 4.27 4.3 kg
92.4 kg
PpF—2 g I
kAT 6 50 1 X4.770 = 4.77 4.8 kg
PP LR IS i
¢ 13 32 X 0.340 = 10.88 10.9 | kg
PPY 4ok sk ik
¢ 50 1 X2910 = 291 2.9 kg
PVY vk 1% i it
613 8 X 0.375 = 3.00 3.0 kg
Ay %74 %% I
¢ 50 2 X 1.730 = 3.46 3.5 kg
25.0 | kg
PRIV kAR % Tl
AT $50X ¢ 13 8 X 1.700 = 13.60 13.6 | kg
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¥ 80 8¢ 0971 A YqwogT=) sy R G
(FH3EEw) | (32
)22 R ALNC) S-TXE) | 7-T132%]) /S N G N7 Z
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2 TIX T+ T & &

+Taq477 | ER1-4 HEEE As PP ¢ 13 DP=0.30m
T TR L= 1.0%4+1.0%4 = 8.0 m
(IR EREF)
’ W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
I — >
< \u v S
I OEREET
| RC-40 3
|
i A
i W | #EIfE[  0.550
a i D1 | %&4M%[ 0.022
= €| ° wIELl SRRt — DP | +-#0 | 0.300
i < H1 [#izE] 0.322
H2 | ##EIE| 0.282
hl [#EFF] 0.132
h W
A
=
( 8.0 m Y7=v¥E)
4 e iR N M g B = B & &
i o) As, t=15cmbL F 2.00 X 8.0 m 16.0
SRR R T As, t=10ecmPL T 0.55 X 8.0 m? 4.4
O T Bk WY+ 0.55 X 0.282 X 8.0 m’ 1.2
P REL T RC-40
P FL T B+ ( 055 X 0.132 — 0.022 2 X 7,/4)X 8.0 m® 0.6
DL T Y
PR A Wi R
B sy e+ .20 — 0.60 -+ 0.9 m’ 0.5
FEo AL As 0.55 X 0.04 X 8.0 m’ 0.2
PSS T As m’ 0.2
15 URE - ALy T 0.023 X 0.04 X 16.0 m’ 0.01
B T RC-40, t=16cm 0.55 X 8.0 m? 4.4
A RIEAS(13)
IR T t=3cm 0.55 X 8.0 m? 4.4
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2 TIX T+ T & &
+Ta47" | fER1-5 HEEE As PP ¢ 13 DP=0.30m
T TR = 3.1%4 = 12.4 m
(IR EREF)
y W
BEE%As t=4cm EHl | BR RIEIR BAEFEAAs t=3cm
- —
< \u v S
i BRAET
| RC-40 =
!
i A
i W | #EIfE[  0.550
a [ DI [#&4ME[ 0.022
= €| ° wIELl SRRt — DP | +-#0 | 0.300
2 < H1 | HREIZE] 0.322
i H2 | #mHE|  0.282
! hl [#EFF] 0.132
i h W
!
'D ;
| —
} (=)
RE%E 6D
( 12.4 m M7-0¥dE)
4 e GIZ20 N B = B & &
AhEEDIN 1T As, t=15cmPA T 2.00 X 124 m 24.8
SRR R T As, t=10cmPA T 0.55 X 12.4 m? 6.8
woEl T bk WYE + 0.55 X 0.282 X 12.4 m® 1.9
DL T RC-40
P FL T B+ ( 055 X 0.132 — 0.022 2 X gx,/4)X 12.4 m® 0.9
DL T Y
R S EEL
B sy W+ .90 — 0.90 -+ 0.9 m’ 0.9
AR As 055 X 0.04 X 124 m’ 0.3
PSS T As m’ 0.3
15 URE - ALy T 0.023 X 0.04 X 24.8 m’ 0.02
B A% T RC-40, t=16cm 0.55 X 12.4 m? 6.8
A RIEAS(13)
IR T t=3cm 0.55 X 12.4 m? 6.8
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HAE B -I58

W X K U85

ERD Hirg BB | W
[#41]
G
PEAFL HEERITFT| ¢ 100X ¢ 75 1 1 "
T AR E T
R ETE AR 77y R AL 1 1 1
E
Hi NG AR EE | 450 X 350-200 1 1 1
AHEE
Hi NG AR EE | 450 X 350-200 1 1 "
BAS
Ho R AGH AR | 450 X 350-100 1 1 "
CHIA
o R AGH AR | 450 X 350-100 1 1 I
ATT
H AR E | 680X 200-40 1 1 1
770y AL
HpiT 7 HE | ¢ 75X 100 1 1 P
EFY b 100 1 1 1A
(75751
EERE T
THAAR R T =0 1 L |6
Virvh
s BT T ¢ 100 2 2 i
770 kT T ¢ 75 2 ) 8]
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